Math 098 Quiz 2 Preparation Ch. 4 .1 to 4.5 Part 0 v02
NO BOOK/ NO NOTES/YES CALCUATOR
Fall 2017 Dressler

Name

Add the polynomials.
1) 2y5 - 4y3 - 2y) + (4y5 - 6y3 - 4y)

2) (2y0 + 3yD - 9y) + (7y0 - 8y5 + 2y)
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Subtract the polynomials.

8) (-15x + 8) - (-18x + 15) 8)
9) (9x6 - 6x3 - 16) - (3x6 + 20x3 - 8) 9)
10) (7x6 + 14x3 - 3) - (4x6 + 3x3 - 5) 10)
11) (-14y3 + 10y2) - (12y3 - 2y2) 11)
12) (14y4 - 13y3) - (3y4 + 10y3) 12)

Solve the problem.
13) Find a polynomial for the sum of the areas of these rectangles. 13)
X X
X 8
14) Find a polynomial for the sum of the areas of these rectangles. 14)
X X
X 3
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15) Find a polynomial for the sum of the areas of these rectangles. 15)

X X
X 5
16) Find a polynomial for the sum of the areas of these rectangles. 16)
X X
X 6
17) Find a polynomial for the perimeter of the figure. 17)
2z 2
2z 2z
5
7z 7z
5
2z 2z
2z 2
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18) Find a polynomial for the perimeter of the figure.

2z 3

2z 2z

7z 7z

2z 2z

2z 3

19) Find a polynomial for the perimeter of the figure.

9a

3a

9a 4a

4a

2a
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Multiply.

20) (x2 + 9)2 20)
21) (4 + 3x9)2 21)
22) (3 - 2x3)2 22)
23) [s -%JZ 23)
24) [s -%Jz 24)
25) [c + %]2 25)
26) [c . %]2 26)
27) [c + %]2 27)
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Multiply using one of the rules for the square of a binomial. Assume any variable exponents represent whole numbers

28) [(3x - 1) + 4y]2 28)
29) [(4x - 4) + 6y]? 29)
30) [(7x - 4) + 5y]2 30)
31) [(4x - 5) + 3y]? 31)
32) [(3x - 2) + 7y]2 32)

Find the indicated function value.

33) Find £(0) when f(x) = x2 - 3x - 3. 33)
34) Find £(0) when f(x) = x2 + 3x + 1. 34)
35) Find f(-4) when f(x) = 5x2 + 2x + 6. 35)
36) Find f(1) when f(x) = 4x2 + 4x + 1. 36)
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Solve the problem.
37) A rocket is stopped 32 feet from a satellite when it begins accelerating away from the 37)
satellite at a constant rate of 20 feet per second per second. The distance between the rocket
and the satellite is given by the polynomial P(t) = 10t2 + 32. Find the distance between the
rocket and the satellite 6 seconds after the rocket started moving.

38) A rocket is stopped 31 feet from a satellite when it begins accelerating away from the 38)
satellite at a constant rate of 14 feet per second per second. The distance between the rocket

and the satellite is given by the polynomial P(t) = 7t2 + 31. Find the distance between the
rocket and the satellite 4 seconds after the rocket started moving.

39) A rocket is stopped 28 feet from a satellite when it begins accelerating away from the 39)
satellite at a constant rate of 16 feet per second per second. The distance between the rocket

and the satellite is given by the polynomial P(t) = 8t2 + 28. Find the distance between the
rocket and the satellite 7 seconds after the rocket started moving.

Factor the polynomial using the greatest common binomial factor.

40) 4(x +5) - a(x + 5) 40)
41) 5(x +9) - a(x +9) 41)
42) a(x +8) + 4(x + 8) 42)
43) a(x + 14) + 6(x + 14) 43)
44) x(y - 14) - 2(y - 14) 44)
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45) x(y - 4) - 11(y - 4)

46) Sx(x-y) - (x-y)

Factor the trinomial, or state that the trinomial is prime.
47) x2 - 5x + 6

48) x2 - 5x - 14

49) y2 - 9y + 14

50) y2 - 10y + 21

51) x2 + 3x - 40

52) x2 + 2x - 99

53) x2 + 79x + 80
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Factor completely, or state that the trinomial is prime.
54) 2y2 + 14y + 24

55) 4y2 + 36y + 80

56) 4y3 - 8y2 - 60y

57) 4y3 - 4y? - 48y

58) 5x3 - 35x2 + 50x

59) 3x3 - 21x2 + 30x

60) 4x3y3 - 4x3y2 - 80x3y

61) 2x3y3 - 2x3y2 - 40x3y

62) 5x3y3 - 10x3y2 - 75x3y
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Factor by introducing an appropriate substitution.
63) (x + 6)2 = 9(x + 6) + 20

64) (x + 5)2 - 11(x + 5) + 28

65) 11(x + 9)2 - 8(x +9) - 3

66) 5(x + 3)2 - 3(x +3) - 2

67) 5(x - 9)2 - 54(x - 9) - 11

68) 7(x - 3)2 - 13(x - 3) - 2

69) (x +5)2 - 15(x + 5) + 54

70) 5(x + 3)2 + 2(x + 3) = 7

71) 7(x - 4)2 - 34(x - 4) - 5
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Answer Key
Testname: Q2PREP4.1TO4.5PARTOV02

1) 6y2 - 10y3 - 6y
2) 9yb - 5y5 - 7y

13, 27 1
B, 27 1
03
1 19 1
1o, 19 1
V- 1515
2, 1 2
5) - 2242 4 —x - =
)= 20X 33
4 5 13
4, 5 13
6) -3+ X+ 7
7)_lx2_i 11
5. " 207720
8) 3x - 7

9) 6x6 - 26x3 - 8
10) 3x6 + 11x3 + 2
11) -26y3 + 12y2
12) 11y4 - 23y3
13) x2 + 8x
14) x2 + 3x
15) x2 + 5x
16) x2 + 6x
17) 26z + 14
18) 26z + 20
19) 35a + 9

20) x4 + 18x2 + 81
21) 9x10 4 24x5 + 16
22) 4x6 - 12x3 +9

23) 2 —£s+§
24) 2 —%s+%
25) c2+1?6c+%
26)c2+%c+§

4 4
24 0y —
27) c +7c+49

28) 9x2 - 6x + 1 + 24xy - 8y + 16y2

29) 16x2 - 32x + 16 + 48xy - 48y + 36y2
30) 49x2 - 56x + 16 + 70xy - 40y + 25y2
31) 16x2 - 40x + 25 + 24xy - 30y + 9y2

32) 9x2 - 12 + 4 + 42xy - 28y + 49y2
33) -3
34) 1
35) 78
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Answer Key
Testname: Q2PREP4.1TO4.5PARTOV02

36) 9

37) 392 ft

38) 143 ft

39) 420 ft

40) (x +5)(4 - a)
41) (x+9)(5-a)
42) (x + 8)(a+4)
43) (x + 14)(a + 6)
44) (y - 14)(x - 2)
45) (y - 4)(x - 11)
46) (x-y)x - 1)
47) (x - 2)(x - 3)
48) (x+ 2)(x - 7)
49) (y - 2)(y - 7)
50) (y - 7)(y - 3)
51) (x + 8)(x - 5)
52) (x + 11)(x - 9)

53) prime

54) 2(y + 4)(y + 3)
55) 4(y + 5)(y + 4)
56) 4y(y + 3)(y - 5)
57) dy(y + 3)(y - 4)
58) 5x(x - 2)(x - 5)
59) 3x(x - 2)(x - 5)
60) £x3y(y + 4)(y - 5)
61) 2x3y(y + 4)(y - 5)
62) 5x3y(y +3)(y - 5)
63) (x+2)(x + 1)

64) (x + 1)(x - 2)
65) (11x + 102)(x + 8)
66) (5x + 17)(x + 2)
67) (5x - 44)(x - 20)
68) (7x - 20)(x - 5)
69) (x - 1)(x - 4)
70) 5x + 22)(x + 2)
71) (7x = 27)(x - 9)
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